=7
=
10

@ — cm?
17

® —cm

g
3]
Ne
Il
O
a8

IH2 AB
— CINn

13

@ gch

sto H A 7FBC 9

<]

o g7}

71

o7 Ao mTE HolA

T
il

Ao e Qg An)7} wol

5.

L

1

stofzt.

[

q_

[e)

=2

AN F 2442 ABC 9 CDE

ANz +y o L

=3
=

a

O
]

=

1.

L

1

5, CD =3 ¥4 ujj, AE 2] Zo]

® 8cm

® 10cm

=
«
@ Tcm

e

@ 6cm
@ 9cm

?

® 215

217

“~-5---"Cr-3--
@ 2V15

®

o] AD=4cm , BD =2cm ¥ o], AB 2] Zo]&

Fod=t.

S

O V17
@ 8
:[L




9. o 19y} Zol o
7]12-—,}‘1] —’]Zﬂ_o] ]’ A EF\D
Z+ZF 16cm, 12cm 9 '
A2+ ABCD oA (20l
24 BD & HE ‘
Koz stel ¢ 7} ¢ p¥ e
“--16ecm---

of L& HUS o,

AD ¢} BC' ©] W ¥ E |4 BD ©] & 54 EF 9
Zolg Fetolet.

10. £A = 90°, AB = 6, BC = 12 1 744719 ABC
O] ¥ AB, ACE 217 1:2 2 YESHE HE D, B
et &, CD” + BE” © @& Fslole),

o2 ™A AAHC 9] 3|9 Zo]7F 12em ©]aL
AABC 9] Ed19] Zol7t 18em ¢ ™, AABH 9]
=9 9] dol& oot

A




